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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 3342 1 1.2 3 31.8 93

| 3 | 302 | 28 | 2 | 6 | 461 [ 975 |
| S@ | 3542 | o8 | o4 | 1 | 839 [ 986 |
| 6@ | 3515 | o8 | o4 | 1 | 82 [ 979 |
| 60b) | 3359 | 04 | o5 | 1 | 432 | 935 |
| 6 | 3569 | 21 | o7 | 3 | 716 [ 994 |
| 6l) | 3417 | 36 | 2 | 6 | 593 [ 951 |

| 7) ] 3498 | 12 | 09 | 3 | 405 | o974 |
| 8@@M | 3572 | 18 | o6 | 2 | 86 [ 994 |
| 8b) | 358 | 1 | o7 | 2 | 525 [ 977 |
| 8 ] 331 | 16 | 07 | 2 | 776 | 983 |
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Question

100

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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4. Using an example, explain what is meant by ‘conducting research in the field’.

[4]



































5. (@) Define ‘secondary sources’. [1]

Exemplar answer:

Information sources/data that have not been directly collected/created by
the researcher.

e Any other appropriate content.

Marks AO1

1 e An appropriate definition is given.

¢ An inappropriate definition is given.

0 a
e No response is given.

(b) Briefly explain one disadvantage of using secondary sources in research. [2]

Exemplar answers:

o Ethical issues associated with consent.

e Secondary resources collected may not meet the aims of the study as
they are not directly designed with the research in mind.

e Any other appropriate content.

NOTE 1: A disadvantage that suggests the method is slow/expensive can
only be used if it is compared against another method that is less time
consuming/costly.

Marks AO3
2 e An appropriate disadvantage is briefly explained.
1 e An appropriate disadvantage is identified, but not briefly
explained.
0 An inappropriate/incorrect disadvantage is given.

e No answer is given.
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(@) Define ‘secondary sources’. 1]

(b) Briefly explain one disadvantage of using secondary sources in research. [2]



































A group of psychologists were interested in whether there was a relationship
between attitudes to climate change and recycling behaviour.

Participants were asked to respond to a series of questions including:

‘How concerned are you about climate change?’

An additional nine questions were asked on subjects including social and political
issues, recycling behaviour, plastic pollution and global warming.

(@) 0] Identify a methodology that could be used by the psychologists to
collect participants’ responses to the questions in this research. [1]

Credit will be given for:

e Questionnaire.

e Structured interview.

e Any other appropriate content.

Marks

AO2

1

An appropriate methodology is identified.

0

An inappropriate methodology is identified.
No response is given.

(i) Justify why the methodology you identified in part (a) (i) could be
considered appropriate in this research. [2]

Exemplar answer:

A questionnaire could be used by the participants to rate their
responses to the 10 questions on climate change and recycling
behaviour. This would be appropriate as it has a standardised
format that participants from both groups could follow, meaning that
validity issues such as researcher bias in an interview are negated.
e Any other appropriate content.

Marks

AO2

2

An appropriate justification is given and
contextualised.

1

An appropriate justification is given.

An inappropriatef/incorrect justification is given.
No answer is given.



































A group of psychologists were interested in whether there was a relationship between attitudes
to climate change and recycling behaviour.

Participants were asked to respond to a series of questions including:
‘How concerned are you about climate change?’

An additional nine questions were asked on subjects including social and political issues,
recycling behaviour, plastic pollution and global warming.

(@ (i) Identifya methodology that could be used by the psychologists to collect participants’
responses to the questions in this research. 1]

(i)  Justify why the methodology you identified in part (a)(i) could be considered
appropriate in this research. 2]

(b) Responses to the question ‘How concerned are you about climate change?’ were
measured on a scale of 1-7. Identify the level of measurement used to record the
participants’ responses. [1]











(a) Explain what is meant by ‘conducting research in a laboratory environment'. [3)
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(b) Explain how the psychologist could have collected a self-selected sample at the start of
the study. [3]
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(c) After conducting the research, the psychologist was talking to a colleague about their
findings. The colleague claimed that 'sleep studies lack external validity’. Explain why
the colleague is correct, referring to the scenario in your answer. 2]
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(i) Identify the graphical representation for this research (Figure 2). [1]
T+ (5 & L'If&‘v%m\'\.

(i) Give one reason why it would be appropriate to choose this graphical representation
for this research. (1

TF uses bwme Chows Sleg  Whch

conhnuoss. Lomedd , histoqums  repersats
cenhnucs  dale U«Ué,g.c_x'e ch s aﬂonpr.de.











(a) Explain what is meant by ‘conducting research In a laboratory environment’, [3]
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(b) Explain how the psychologist could have collected a self-selected sample at the start of
the study. [3]
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(c) After conducting the research, the psychologist was talking to a colleague about their
findings. The colleague claimed that 'sleep studies lack ewmny'. Explain why
the colleague is correct, referring to the scenario in your answer,” [2]

’3) MSNS. & et ~seleck, MethodﬂLt Pvheapny

Maey ke raoe kelpral Hacn He oeradye

TN as. g decoed 6 hp Ths heewes ..

Those vho.  seleCed thenseloer 4185 gy 447

be 44 aCoratt. . el o Tk r(?\_

Y UA (achs fypulapan ialdby a8
e,,ﬁrrw 0 S S





() Identify the graphical representation for this research (Figure 2). [1]
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(i) Give one reason why it would be appropriate to choose this graphicalfepresentation
for this research. (1]
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7. Past research suggested that most adults completed four to eight sleep cycles of
around 90 minutes each night. To look more closely at this, a researcher conducted a
study in a university sleep laboratory on volunteers whose night’s sleep lasted
between six and nine hours.

@) Explain what is meant by conducting research in a laboratory environment. [3]

Credit will be given for:

e Controlled conditions reducing extraneous variables.

e Uses standardised procedures allowing for replication.

e Control of variables and how data is recorded.

e Can use large equipment that would be harder to transport/access in
the field.

e Any other appropriate content.

Marks AO1

3 e Thorough explanation of laboratory environments is given.
e Appropriate use of terminology.

5 ¢ Reasonable explanation of laboratory environments is given.
e Some terminology is evident.

1 e Superficial explanation of laboratory environments is given.

0 e Inaccurate explanation is given.
e No response is given.

(b) Explain how the psychologist could have collected a self-selected sample at
the start of the research. [3]

Exemplar answer:

The psychologist could have placed an advertisement on notice boards
around a university asking for people willing to participate in a sleep study.
They would then wait for people to respond and select suitable participants
(i.e. those who do not have specific sleep disorders) from the volunteers
who come forward.

e Any other appropriate content.

Marks AO2

3 ¢ An explanation of self-selected sampling is given.
The explanation is fully contextualised.

5 o An explanation of self-selected sampling is given.
Explanation is not fully contextualised.

1 o An explanation of self-selected sampling is given.

e There is no contextualisation.

0 e An inappropriate/incorrect explanation is given.

No answer is given.

© WJEC CBAC Ltd. 11
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(d)
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After conducting the research, the psychologist was talking to a colleague about

their findings. The colleague claimed that ‘sleep studies lack external validity’.

Explain why the colleague is correct, referring to the scenario in your answer.

[2]

Exemplar answer:
The colleague is correct because sleep labs do not represent real life sleeping
conditions. People may sleep differently in their own beds than in a sleep lab,

so the findings will indeed lack external validity as they may sleep for longer or
shorter periods at home.

Any other appropriate content.

Marks AO2
> e Areasonable justification is given that has been fully
contextualised.
1 ¢ A basic justification is given that is not contextualised.
0 e Aninappropriate/incorrect explanation is given.

No answer is given.

The psychologist displayed the data below.

Figure 2: Graphical representation to show frequency of hours slept between & and
3 hours

(i)

Identify the graphical representation used in this research (Figure 2).

cy density

F requency

w
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[V

[ T 8 g

Hours slapt

[1]

Marks AO2
1 e Histogram is identified.
e Aninappropriate graphical representation is
0 identified.

e No response is given.

12






(ii)

Give one reason why it would be appropriate to choose this graphical
representation for this research. [1]

Exemplar answer:

Sleep has been measured on a continuum of time, which is
continuous data.

e Any other appropriate content.

Marks AO2

1 e An appropriate reason is given in context.

e An inappropriate/incorrect reason is given.
e An appropriate reason is given, but not
contextualised.

¢ No answer is given.











Explain what Is meant by ‘conducting research in a laboratory environment' (3]
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Marks and Comments:

Marks: 3/3 Thorough explanation.

Comments: Appropriate use of terminology and discussion of a range of ideas (control, extraneous
variables, use of large equipment and the ability to establish cause and effect).






(b) Explain how the psychologist could have collected a self-selected sample at the start of
the study. [3]
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Marks and Comments:

Mark: 1/3 Explanation is given, no contextualisation, which is a shame as it’s a nice description.






(c) After conducting the research, the psychologist was talking to a colleague about their
findings. The colleague claimed that 'sleep studies lack external validity’. Explain why
the colleague is correct, referring to the scenario in your answer.
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Marks and Comments:
Mark: 2/2 Reasonable justification, fully contextualised.

Comment: Whilst the contextualisation is brief and very much an afterthought, it is there, right at the
end.






(i) Identify the graphical representation for this research (Figure 2) (1]

I'L (> A L]gg‘u%f‘oﬂft

(i) Give one reason why it would be appropriate to choose this graphical representation
for this research. (1]
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Marks and Comments:
d (i) 1/1 Histogram is identified

d (ii) 1/1 Appropriate reason given (continuous data) in context (hours slept).











(@) Explain what is meant by 'conducting research In a laboratory environment’
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(3]

Marks and Comments:
Marks: 2/3 Reasonable explanation.

Comments: Credit given for the ideas of controlled conditions and standardisation of procedures.
Some terminology is evident.






(b) Explain how the psychologist could have collected a self-selected sample al the start of
the study. (3]
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Marks and Comments:
Mark: 2/3 Explanation is given, not fully contextualised.
Comment: Would have been nice to see a bit of information about how the volunteers would have

been selected after they came forward, or additional contextualisation in the first part of the
response.






(c) After conducting the research, the psychologist was talking to a colleague about their
findings. The colleague claimed that 'sleep studies lack external validity’. Explain why

the colleague is correct, referring to the scenario in your answer. (2]
-~
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Marks and Comments:

Mark: 0/2 Incorrect explanation given — whilst the explanation given is accurate it doesn’t directly
refer to why ‘sleep studies’ lack external validity, but instead focuses on sample, so is not
creditworthy.

NOTE: To credit sample, it would need to directly refer to sleeping patterns in the explanation e.g.
people who volunteered or are willing to participate are more likely to have sleep disorders, making
the sleep study lack external validity.






() Identify the graphical representation for this research (Figure 2). [1]
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e
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() Give one reason why it would be appropriate to choose this graphical Tepresentation
for this research, (1]
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Marks and Comments:
d (i) 1/1 Histogram is identified

d (ii) 0/1 Appropriate reason given (continuous data) but NOT contextualised.























Past research suggested that most adults completed four to eight sleep cycles of around
90 minutes each night. To look more closely at this, a researcher conducted a study in a
university sleep laboratory on volunteers whose night’s sleep lasted between six and nine
hours.

(@) Explain what is meant by ‘conducting research in a laboratory environment’. [3]

(b) Explain how the psychologist could have collected a self-selected sample at the start of
the study. [3]

(c) After conducting the research, the psychologist was talking to a colleague about their
findings. The colleague claimed that ‘sleep studies lack external validity’. Explain why
the colleague is correct, referring to the scenario in your answer. [2]






(d) The psychologist displayed the data below.

Figure 2: Graphical representation to show frequency of hours slept between 6 and

9 hours
9
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(i) Identify the graphical representation for this research (Figure 2). 1]

(i)  Give one reason why it would be appropriate to choose this graphical representation
for this research. (1]



































8. A group of researchers aimed to find out whether people begin to believe fake news
when it is repeated. The researchers asked participants to read news articles, over a
five-week period, and rate how much they believed each article to be true (on a scale
of 1-10) after each session. Articles of fake news were repeated in every other week.
They compared the ratings from the start and end of the research to see the
influence of repetition.

The results can be seen in the table below.

Fig.3. Table to show ratings of belief (1-10) for the fake news article at the start
and end of the study.

Participant

Rating at the start | Rating at the end
of the research of the research

A

3 4

10

OMMO|lO|®m

W Wik |, | N O
(o200 I@ > 2 I 2 I I GO I [ o

@ @

(ii)

© WJEC CBAC Ltd.

Calculate the median rating for the start of the research. Show your
workings. (2]

AO2

e One mark to show workings. 1, 1, 2, 3, 3, 3, 5.
e One mark for the correct answer.

Calculate the mean rating for the end of research. Show your

workings. [2]
AO2
e One mark to show workings. 4+10+4+3+5+6+6=38/7
=5.43

e One mark for the correct answer.

14





(b)

(€)

© WJEC CBAC Ltd.

Write a directional hypothesis for this research. [2]

Exemplar answer:

Participants will have higher belief ratings (on a scale of 1-10) for fake
news at the end of the study, compared to their ratings at the start of the
study.

e Any other appropriate content.

Marks AO2

> e Appropriate directional hypothesis is given, with both
conditions clearly identified.

1 e Appropriate directional hypothesis is given, with only one
condition clearly identified.

0 e An inappropriate hypothesis is given.
¢ No response is given.

The researchers were worried about demand characteristics from their
participants.

Explain how they could deal with this validity issue within this research. [2]

Exemplar answers:

e The researchers could use some deception at the beginning of the
study by not revealing the aim of the research to find out whether
people begin to believe false claims are true when they are repeated.

e They could use a single blind procedure so that the participants are
unaware that the researchers expect their belief in fake news to
increase across the five-week study.

e Any other appropriate content.

Marks AO2

> ¢ An explanation of how to deal with demand characteristics is
given and fully contextualised.

1 e An explanation of how to deal with demand characteristics is
given that is not contextualised.

0 e An inappropriate/incorrect explanation is given.

e No answer is given.
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(d)

(e)

Explain why it would be important to debrief the participants in this research.

(2]

Exemplar answer:

If the hypothesis is correct, then participants would have been made to
believe news stories that are ‘fake’ and therefore they may face risks of
humiliation if they leave the study believing the news articles are true.
Therefore, it is important to debrief the participants so that they understand
the purpose of the research and they are told which of the articles were
‘fake news’.

e Any other appropriate content.

Marks AO2
> e An explanation of why it is important to debrief participants
is given and fully contextualised.
1 e An explanation of why it is important to debrief participants
is given but not contextualised.
0 e An inappropriate/incorrect explanation is given.
e No answer is given.
Explain the role of an ethics committee. [3]

Credit will be given for:

e Provides a set of moral principles that guide research from its inception
through to completion and publication of results.

e Vetting research before its completion, based on an ethics proposal
and/or using ethical guidelines.

e Making suggestions on how the research can be completed in an
ethical way.

e For socially sensitive research, the committee may propose to the
researcher(s) advice on how best to publish their results so as to
reduce risk to status, values and beliefs.

e Any other appropriate content.

Marks AO1

3 e A thorough explanation of the role of an ethics committee is
given.

> e A reasonable explanation of the role of an ethics committee
is given.

1 o A superficial explanation of the role of an ethics committee
is given.

0 An inappropriate/incorrect explanation is given.

o No answer is given.

2290U20-1 WJEC GCE AS Psychology — Unit 2 MS S22/CB
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A group of researchers aimed to find out whether people begin to believe fake news when

it is repeated. The researchers asked participants to read news articles, over a five-week
period, and rate how much they believed each article to be true (on a scale of 1-10) after each
session. Articles of fake news were repeated in every other week. They compared the ratings
from the start and end of the research to see the influence of repetition.

The results can be seen in the table below.

Figure 3: Table to show ratings of belief (1-10) for the fake news article at the start and the
end of the study.

Paricipant | Rang atstart | Raingat e o
A 3 4
B 5 10
C 2 4
D 1 3
E 1 5
F 3 6
G 3 6

(@ (i) Calculate the median rating for the start of the research. Show your workings. [2]

(i)  Calculate the mean rating for the end of the research. Show your workings. 2]






(b) Write a directional hypothesis for this research. [2]

(¢) The researchers were worried about demand characteristics from their participants.
Explain how they could deal with this validity issue within this research. [2]

(d) Explain why it would be important to debrief the participants in this research. [2]

(e) Explain the role of an ethics committee. [3]































































































1.

Principles of Research

Using an example, describe ‘event sampling’. [3]

period i.e. one

Exemplar answer:

An observational sampling technique, where participants are observed by a
psychologist who is looking to record a specific behaviour (event). The
event/behaviour will be recorded each time it occurs to create a total score. For
example, a psychologist may note down each time a participant demonstrates an
aggressive behaviour to create an overall aggression score within a set time

hour.

e Any other appropriate content.

Marks AO1
3 e Description and level of accuracy is thorough and clearly linked to
an example.
o Description and level of accuracy is basic and linked to an example.
5 OR
e Description and level of accuracy is thorough, with no link to an
example.
e Description and level of accuracy is superficial, with no link to an
1 example.
OR
e Only an example is given.
0 e |naccurate description and/or example.
e No response is given.



































1.

Using an example, describe ‘event sampling’.

[3]







































































. Using examples from Milgram's (1963) ‘Behavioral study of Obedience’, explain the term
‘deception’. [4]
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2. Using examples from Milgram's (1963) ‘Behavioral study of Obedience’, explain the term
‘deception’. .
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2. Using examples from Milgram'’s (1963) ‘Behavioral study of Obedience’, explain the
term ‘deception’. [4]

Exemplar answer:

Deception refers to deliberately misleading, or falsely informing participants about
the nature of research. Milgram did this when he rigged the lots in the draw to
decide who would be the teacher and who would be the learner. He also made
participants believe that they are administering real electric shocks, when this was
in fact not the case. Deception can also occur through deliberate omission of
details about the aims of the research before it is completed. Milgram told his
participants the aim of his research was to see the influence of punishment on
learning, deliberately omitting the true aim, which was to test obedience to
authority.

e Any other appropriate content.

Marks AO2

e Accurate explanation of deception, clearly linked to Milgram with

4
more than one example.

e Accurate explanation of deception, linked to Milgram with one
example.

3 OR

o Partial explanation of deception, clearly linked to Milgram with more
than one example.

e Partial explanation of deception, linked to Milgram with one

example.
2 OR
e Accurate explanation of deception, with no example from Milgram’s
study.
o Partial explanation of deception, with no example from Milgram’s
1 study.
OR
e Only an example is given.
0 ¢ Inaccurate explanation and/or example.

e No response is given.











2. Using examples from Milgram’s (1963) ‘Behavioral study of Obedience’, explain the term
‘deception’ [4]
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Marks and Comments:

MARK: 2/4 Accurate explanation of deception, no example from Milgram’s study.

Mark breakdown:
They have both aspects of deception here, which is what we are looking for to fulfil the criteria of
being accurate. You should look for two strands within the response — deliberate misleading of

participants during the research itself AND the idea that information regarding the aims of the
research is omitted/misleading.

The example given —they had to cause harm to someone else through electrocution — is inaccurate so
not creditworthy.











2. Using examples from Milgram’s (1963) ‘Behavioral study of Obedience’, explain the term

‘deception’ [4]
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Marks and Comments:
MARK: 3/4 Accurate explanation of deception, linked to Milgram with one example.

Mark breakdown:

Accurate explanation — idea of misinforming and withholding information (these are the two main
ways a pp can be deceived).

Only one example — told they were taking part in a memory experiment.

They have both aspects of deception here, which is what we are looking for to fulfil the criteria of
being accurate. You should look for two strands within the response — deliberate misleading of
participants during the research itself AND the idea that information regarding the aims of the
research is omitted. Most responses | have seen focus on the latter.























2.

Using examples from Milgram’s (1963) ‘Behavioral study of Obedience’, explain the term
‘deception’.

[4]











3. Discuss the strengths and weaknesses of a repeated measures experimental design. (6]
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. Discuss the strengths and weaknesses of a repeated measures experimental design.

(6]
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3. Discuss the strengths and weaknesses of a repeated measures experimental design.

[6]

Credit will be given for:

Strengths of repeated measures experimental design.

Participant variables are controlled e.g. 1Q, gender etc. as the same
participants are used in both conditions.

A smaller sample of participants are required compared to other experimental
designs; both independent groups and matched pairs need twice as many
participants to gain the same amount of data.

Weaknesses of repeated measures experimental design.

Practice effect can influence the results, where participants improve their
performance in the second condition, because their participation in the first
condition means they are better prepared/understand the task more clearly.
Boredom and fatigue can influence results in the second condition
encountered, where repetition of identical or very similar tasks becomes
mundane for the participants who may have less motivation to fully participate.
Validity issues such as demand characteristics and/or social desirability bias
are more likely to arise as the participant is more likely to be able to figure out
the aim of the research as they participate in both variables.

Any other appropriate content.

NOTE: If only strengths OR weaknesses are given maximum 3 marks awarded.

Marks AO3

o Evaluation of repeated measures is thorough.

5-6 . o
e There is depth and range to the material included.

o Evaluation of repeated measures is reasonable.

3-4 . . .
e There is depth and range to the material but not in equal measure.
1-2 e Evaluation of repeated measures is superficial.
o Depth or range to the material.
0 e |nappropriate answer is given.

¢ No response is given.











3.

Discuss the strengths and weaknesses of a repeated measures experimental design. (6]
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Marks and Comments:

MARK: 5/6 Thorough evaluation, depth and range to the material presented.

Comments:
A good range of points are made (three different ideas — fewer pps, extraneous variables, and order

effects), and some of these have detail (i.e. the idea of boredom/practice effects and how this
impacts validity). | didn’t feel there was enough detail to warrant full marks, particularly in the
strengths which were quite list like and not fully elaborated. For example, it is not clear why there
would be fewer extraneous variables or what those variables might be, which could have lifted the

answer to full marks.











3. Discuss the strengths and weaknesses of a repeated measures experimental design. (6]
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Marks and Comments:

MARK: 2/6 Superficial evaluation, depth only to the material.

Comments:
They have not included any relevant strengths, so the mark is limited to a maximum of 3/6. They

make one valid point about order effects and provide depth to that point, but the lack of range limits
the answer to the top of the lowest mark band.























3.

Discuss the strengths and weaknesses of a repeated measures experimental design.

[6]



































4. Using an example, explain what is meant by conducting research in the field. [4]

Credit will be given for:
e Research conducted in a natural/mundane environment e.g. school, hospital or
workplace.

o Research that is not ‘lab based’.
e Procedure can still be standardised.
e Lower levels of control over confounding variables than the laboratory.
e More likely to use qualitative methods e.g. observations, case studies etc.
e Any other appropriate content.
Marks AO1l
4 e Description and level of accuracy is thorough and clearly linked to
an example.
e Description and level of accuracy is reasonable and linked to an
example.
3 OR
e Description and level of accuracy is thorough, with no link to an
example.
o Description and level of accuracy is basic and linked to an example.
5 OR
e Description and level of accuracy is reasonable, with no link to an
example.
e Description and level of accuracy is superficial, with no link to an
1 example.
OR
e Only an example is given.
0 e |naccurate description and/or example.

¢ No response is given.


















